SIGNATURE PAGE

RFQ# F-36-2024

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	SHARDA PAPER INC
Preparer's Name:	SUNNY PATEL (PRINT)
Signature:	Sunny Patel (PRINT) 11/062023
Address:	378 TROUTMAN STREET, BROOKLYN, NY 11237
Telephone No.:	718-628-4106X110
Fax No.:	718-628-4109
E-Mail Address:	Shardapaperinc@yahoo.com
	***(This should be the email where Contracts would be sent)**
Contact Person:	SUNNY PATEL
FEIN:	
(Federal Employee ID)	

RFB must be received no later than:

---- This Is Not An Order ----



November 9, 2023 10:30AM

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER XEROGRAPHIC PAPER FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

For D	elivery to: Various Delivery Locations. See Details Below.	·		
Delive	erv Date: 1/1/2024-12/31/2024			
ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
1	VIRGIN XEROGRAPHIC PAPER 20#, 8-1/2" X 11", WHITE 92 BRIGHTNESS 10 REAMS/CARTON Page Agriculture	2,884 CARTN(S)	\$31.20	\$89980.80
	Packaging: MFG/Brand: Product No: Variances, if any: Yariances To Reality Carton, Strapped Box Xerographic XE1120			
2	VIRGIN XEROGRAPHIC PAPER 20#, 8-1/2" X 11", BLUE 92 BRIGHTNESS 10 REAMS/CARTON	13 CARTN(S)	\$62.50	\$812.50
	Packaging: 10 Reams/Carton, Strapped Box MFG/Brand: Xerographic Product No: XE1120BL Variances, if any:			
3	VIRGIN XEROGRAPHIC PAPER 20#, 8-1/2" X 11",YELLOW 92 BRIGHTNESS 10 REAMS/CARTON	9 CARTN(S)	\$62.50	\$562.50
	Packaging: 10 Reams/Carton, Strapped Box MFG/Brand: Xerographic Product No: XE1120YL Variances, if any:			
4	VIRGIN XEROGRAPHIC PAPER 20#, 8-1/2" X 11", SALMON 92 BRIGHTNESS 10 REAMS/CARTON	1 CARTN(S)	\$62.50	\$62.50
	Packaging: 10 Reams/Carton, Strapped Box MFG/Brand: Xerographic Product No: XE1120SAL Variances, if any:			

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER XEROGRAPHIC PAPER FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
5	VIRGIN XEROGRAPHIC PAPER 20#, 8-1/2" X 11", GREEN 92 BRIGHTNESS 10 REAMS/CARTON Packaging: MFG/Brand: Product No: Variances, if any:	3 CARTN(S)	\$62.50	\$187.50
6	VIRGIN XEROGRAPHIC PAPER 20#, 8-1/2" X 11", PINK 92 BRIGHTNESS 10 REAMS/CARTON Packaging: MFG/Brand: Product No: Variances, if any: VIRGIN XEROGRAPHIC PAPER 10 Reams/Carton, Strapped Box Xerographic XE1120PI	14 CARTN(S)	\$62.50	\$875.00
8	VIRGIN XEROGRAPHIC PAPER 20#, 8-1/2" X 11", IVORY 92 BRIGHTNESS 10 REAMS/CARTON Packaging: MFG/Brand: Product No: Variances, if any: 10 Reams/Carton, Strapped Box Xerographic XE1120IV	1 CARTN(S)	\$62.50	\$62.50
9	VIRGIN XEROGRAPHIC PAPER 20#, 8-1/2" X 11", GOLDENROD 92 BRIGHTNESS 10 REAMS/CARTON Packaging: MFG/Brand: Product No: Variances, if any: VIRGIN XEROGRAPHIC PAPER 20#	1 CARTN(S)	\$62.50	\$62.50
10	VIRGIN XEROGRAPHIC PAPER 24#, 8-1/2" X 11", HOTS ORANGE 92 BRIGHTNESS 10 REAMS/CARTON	1 CARTN(S)	\$146.00	\$146.00

---- This Is Not An Order -----



Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER XEROGRAPHIC PAPER FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	10 Reams/Carton, Strapped Box Xerographic 22651W			
15		*	3 CARTN(S)	\$70.00	\$210.00
	Packaging: MFG/Brand: Product No: Variances, if any:	Springhill 015101		·	
16	84 BRIGHTNESS 250 SHEETS/REAM	ARD STOCK, YELLOW , 8 REAMS/CARTON	· 1 CARTN(S)	\$87.50	\$87.50
	Packaging: —— MFG/Brand: —— Product No: —— Variances, if any:	8 Reams/Carton, Strapped Box Springhill			
17	COLOR LASER GLC 32#, 8-1/2" X 11", 94 BRIGHTNESS 300 SHEETS/PKG,8	PKG/CARTON	4 CARTN(S)	\$75.00	\$300.00
	Packaging: MFG/Brand: Product No: Variances, if any:	8 PKG/Carton, Strapped Box Hammermill			
18	XEROX DIGITAL PR 24#, 8-1/2" X 11", WI 98 BRIGHTNESS 10 REAMS/CARTON	HITE	13 CARTN(S)	\$58.50	\$760.50
	Packaging: MFG/Brand: Product No: Variances, if any:	10 Reams/Carton, Strapped Box Xerographic XE1160			

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER XEROGRAPHIC PAPER FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
19	VIRGIN XEROGRAPHIC PAPER 20#, 8-1/2" X 14", WHITE 92 BRIGHTNESS 10 REAMS/CARTON Packaging: 10 Reams/Carton, Strapped Box	241 CARTN(S)	\$47.50	\$11447.50
	MFG/Brand: Xerographic Product No: XE1420 Variances, if any:	 - -		
20	VIRGIN XEROGRAPHIC PAPER 24#, 8-1/2" X 14", HOTS LEMON 92 BRIGHTNESS 10 REAMS/CARTON	4 CARTN(S)	NA	NA
	Packaging: MFG/Brand: Product No: Variances, if any:	- - -		
21	VIRGIN XEROGRAPHIC PAPER 20#, 11" X 17", WHITE 92 BRIGHTNESS 5 REAMS/CARTON Packaging: 5 Reams/Carton, Strapped Box	30 CARTN(S)	\$44.50	\$1335.00
	Packaging: 3 Reams/Carton, Strapped Box MFG/Brand: Xerographic Product No: XE1720 Variances, if any:	· 		
22	VELLUM BRISTOL 67#, 8.5" X 11", CARD STOCK, GOLDENROD 92 BRIGHTNESS 250/PK	7 PKG(S)	\$9.25	\$64.75
·	Packaging: 250 Sheets/PKG MFG/Brand: Springhill Product No: 086008 Variances, if any:			
23	ASTROBRIGHTS COLORED CARDSTOCK 65#, 8.5 X 11", GAMMA GREEN 250/PK	4 PKG(S)	\$14.50	\$58.00
	Packaging: 250 Sheets/PKG MFG/Brand: Astrobright Product No: Variances, if any:	_ _ _ _		

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER XEROGRAPHIC PAPER FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
24	ASTROBRIGHTS COI 65#, 8.5 X 11", LUNAF 250/PK Packaging:		4 PKG(S)	\$14.50	\$58.00
	MFG/Brand: Product No: Variances, if any:	Astrobright			

TOTAL:

\$107073.05

SUBMIT ALL INQUIRIES TO: FORMALBIDQUESTIONS@CO.MONMOUTH.NJ.US

Various Delivery Locations:

Finance Department Hall of Records 1 East Main Street, Third Floor Freehold, NJ 07728 Joanne Lewandowski 732-431-7391 x7740

Information Technology Services Human Services Building 3000 Kozloski Road Freehold, NJ 07728 Carol Doggett 732-431-7991 x5878

Adjuster Human Services Building 3000 Kozloski Road, Room #235 Freehold, NJ 07728 Stephen G. Massell 732-431-6302 x6303

County Clerk Market Yard 33 Mechanic Street Freehold, NJ 07728 Felicia Santaniello 732-431-7324 x8742

County Clerk/Archives Western Branch Library 125 Symmes Road Manalapan, NJ 07726 Gregg Gaal 732-308-3771 x3773